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1 Explain why carbon forms many compounds P 241
Which of the following is correct regarding to carbon atom? TSl 550 GGlats Lo masa -.;EL- lae 41

A Carbon atom can form bonds with other carbon g\\jﬁ.i Q88 Sah) pa dadds y (13985 eyl 553 a_‘.ln.m

atoms only, but not with atoms of other elements Al alic ulﬁi
4 Carbon atom can form straigh! chains only &m Jadls (983 (ga S0 353wkl O B
A Carbon atom can form four covalent bonds with (55,8 < aa 3peald Jalg ) aul (585 0080 )3 iy @

A———

atoms of carbon, or with other elements Sl salic xa ol gl
A Carbon atom can form only single covalent ﬁ:__gm Atanlid Lalgy (peSe Gaa Sl 5)0 audaid D

bonds
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Distinguish between the saturated and the unsaturated hydrocarbons student textbook+ fiqure 5
Regarding the compounds in the table below, which is (A Jaandl A 5lgll Sl pally laty Logd

saturated hydrocarbon?

QD AN Gy

T
|
I—N—I
I
I—N—I
I
T

i H = C=C=H

£

X X

~—_ 7

The compound 3 only

The compound 2 only

The compounds 1, 3

The compounds 2, 3

w2500 B
R I o I -
32000 D
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243-244
Describe the process wsed to separate petroleom compounds by explaining the physical property used during the process 8 + fiqures & and 7

In the diagram below which of the following Solial JEAN A A i i sl ) o
compounds (fractions) have the highest boiling i ) ko
point?

| gases
| gasoline
Lubricating oil and grease ) § ] g
| kerosene N oS | |(d
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Tdentify general formiali, molecular formuli, structucal formola aad fundional growp for different Bimilies of arganic
oo ponds induding alcoliols, ethers, carbonyl compounds containing oitrogen (smines and amides)

student textbook+ table 1

282-283

Which of the following is true regarding methane Sl glaally Sl (fua) 7l 3hi Lol mowa ._,:;i._. Las _s\

models (formulas) and the information they give?

m,,a..‘.__,:.u

Lokl 30 Ciaglesd %ﬂ (o
The information they give model(Formula)

(Al 2pudt
Model(Formula)

:‘.‘!, ls.. "-- - A ].:

in the molecule but not the exact, three-

dimensional geometry

DAl ole z3gal
Demonstrates the géomeltry of the e =
The space-filling a
molecule clearly
model
aly S el A ek baddly 580 #3sa
/Demonstrates the geometry of the The ball-and-
molecule clearly stick model
. Ll daall H
TR S progpem m@’} i I
Gives a more realistic picture/of what a molecule A structural 2 S (I: a1 c
would look like If you could see it formula H
Y el egiadl B LA il gl
ady Ay D) el dasall
Shows the general arrangement of atoms Molecular formula CH d
4
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Explain the Bctors affed the propertices and nses of organic halides

student textbook+ table 2+figure 4

Whalt substiluted hydrocarbon is used in industry

of adhesives known commercially as

silicone

vinyl chloride

Halothane

Chloro methane

Tetrafluoroethene

dolia A paiig W g€yl Gl L
Sl sty U jlad 48 5 jmall daiaBU o 5l
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Define an amines while dassifying it into primary, secondary and vertiary amine

student textbook

an

Regarding the substituted hydrocarbons in the table

b e gl olial Jgaall 3 i S pagl) il 3laty Lagd

below, which of the following is correct?

L}

&

I
CH

<

v~
B

! NH,
==
) (Ao\ 2 P 1
po—— —

3

2

1

Al Gyl

Tretiary amine

5 o
Secondary amine

5 Gl
Secondary amine

S Cpal

Trél:ia}'_v amine

gl Cpal
Q‘ljﬁw" B

primary amine

Al Cal

Trétiar}' amine

sl Gl
primary amine

5 Ll
Secondary amine

A Ol
primary amine

5 Cpal
Secondary amine

L Gl

Tretiary amine D

s Ol
primary amine A A
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What is the name of the following alkane o) @ Aladiuly 4,0 A0 dapall 53 S adl L
Using TUPAC rules? ! TUPAC

A — 2.2.3-trimethyl — 4,6 — diethyl heptane Ol S 64U S-3¢24¢2 ><
B - 4.6- diethyl— 2.2 .3 — trimethyl heptane }(Juu FSH-3 2208 SB-6¢4 -BS
C - 3.6.7.7-tetramethyl- 5— ethyl octane SR -5 Jfe ol —T76766:3 - <
D - 4 —ethyl-2.2.3.6- tetramethyl octane S g1 Jifaa ,,ab )—6¢3¢262-J8-4 a)

c JES

'
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Draw the struciure of cydoalicanes given its IUPAC name = Example 2+ Applications B2283
What is the correct structural formula for the 1Sl Aaaall A8l Ll L
compound:
,6 — diethyl -2 ,3 ~d ? b L.{g ¥ B-3.2)- A% A8-6.
1 ethyl — 2 J/Jgethyl cyclooctane LAl oSy Juise o 3025048 e 6.1
© CHs T
CH _CH;
CHsCH CH,CH
3 CH;CH, 213

CH; (d

CH;
CH3 CH3CH2%>
WV,
t2CH %@ CH; CH,CH;

(b
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Explain physical properties of alkanes

student textbook+ table 4

254

What explains the immiscibility of alkanes

with water?
A—1,3only
B-2,4only
C - 1only
D —4 only

Telal & Elj.i.gm IS Al ?..‘r._}....i; .’glﬁi L.

)
il Explanation N""l]
w;ﬁ# by 85 Y, % g-’-ﬁ-ﬂy‘ S e
Alkanes molecuTes are nonpolar and do not form hydrogen bonds 1 /

A Bl S LS Sl e
Alkanes molecules are polar nd Yorm hydrogen bonds

slally CASIYN Y 5o o0 S (g 6 e (6 80 SIS O LD (g 6
The attraction forces between alkane molecules are stronger than the
attraction forces between the alkane and water molecules

slall 5 SR Sy 5 O el 5 e Sl ST Sl e G el 5 8
The attraction forces between alkane malecules are weaker than the
attraction forces between the alkane and water molecules

3.1 @l
L4 2 -B
Li | -C

Lid 4 -D
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Which of the compounds listed in the table ae JEUL ool Jgaadl B 83 ) gl S ydl (g g
below would react with bromine? ¢ asd
. Sl i o Jadd | S 3
A — Compound 1 only . o I Syd- A
B — Compound 2 only Number Lil2 £, -B
CH; - CH; - CH; - CH, — CH, - CH .
C — Compounds 2 , 3 only b0 OO | TR Lih 3 92 S,d .@
D - Compounds 1 , 4 only = 'Cﬂz@'m’ P v Lilg 51 JS,J-D
(CH=C> CH: - CH, - CH; - CH;§ 37
CH; - CH; - CH - CH, - CH;y
CH} ><
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What is the correct structural formula of S yell daaall 450 Adall L
the compound (5 —methyl — 2 — hexyne)? ¢ (st 2 — i §)
=
o 3o
Structural Formula S Ll St
\ 2 > | 5
CH;-C=C-CH-CH,-CH;
p's
CH; —@ CH; - CH, - CH;
CH;

I
CH; - CH - CH, - CH;
<

| 2 @

CH;—CEC—CHs—CH—CI'h

=
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Use IUPAC system to name the aromatic compounds

student texthook+Example 4+ Applications

What is the correct name for the aromatic compound

shownin the figure below?

A—(1-propyl-3 - methyl -4 - ethyl benzene)
B- (1—ethyl-2 —methyl—-4 - propylbenzene)
C- (1—propyl-4—ethyl -3 - methylbenzene)
D- (1—ethyl-4—propyl—- 6 — methylbenzene)

€
CH.CH.CH,

CHyY ™M
CH,CH

alial JSAR Cuaall ila g Y1 oS jall maal) s L

(el —4- i 3 Jusr—1)- A

0. <

(R dmdr—d4 - Jmsa-2 0=l —1)

(e ddaa-3 _Jdl -4 Jusn—1) -C
(i diisa—6- Jmsn-4 -Ji-1) -D

\

2
1/‘
_—

7,

=
7 \
‘—/‘
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284

Write the IUPAC name of alkyl halides ami aryl halides

student textbook+ Applications

Which of the following is: 1- bromo-4-chlorobenzene?

§ Cuiig ) 9iSegegag -1

Pl gl

Br

.r’."ﬁl:?} .#_',CI

——
i

A\

/4
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Compare and contrast properties of ether and alcohol of similar size and mass [Volatility, boiling point, solubility in water)

288-285-290
student textbook+ fiqureT+table 5

The Oxygen atom doesn’t bond with Hydrogen atom in

ether. Whatis the effect of that on the

Ether’s properties?

A-Its molecules can form hydrogen bonds with each
other

B- It becomes less volatile

C- It has a higher boiling point than alcohols of similar
size and mass

D- It is less soluble in water thanalcohols

P s B Yl D 5 bad 5
AN palkad Jo i Sl Y
oty iy Tl 0 040l (- A

sl
xm}a!@ﬁ J5-B
U4 fusdll &Y gl é A da 2S5 -C
asall gk
Y S phall 3 o SUALGE o 6D )
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Defne the elimination readtion while writing the eguation for some elimination readions including debhydrogenation, and

delindration reaclions

studant textbook

298-293

Which is correct about the following reactions

A mLﬁHMEuauJ,LuLgt

A

-+

| R@+ Hz — R—CHz—CH3 !

R—CH;—CH>—OH — —CH=@ + H>O
=

e "
= 3
2 |
i I
f:abcﬁgﬁﬁon addition reaction
Wzl Jels | JIaSe) Jolts B
addition reaction SUBS_titutiun
reaction
dia Jelds ;
o s Jells QC >
elimination . )
reaction addition reaction
Jlasa) Jelds iia Jelds
substitution elimination D
reaction reaction
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16 o g Ay o ol g sl B iy el i 5 i ) ) S g b iy bl S AEGRN 300-301
Define addition reaction while writing the ion for some addition reactions induding hydrogenation, o,
e e sl B hydroge bydras student texthook+ table 12
What is the expected product of the following H ¢ A Jolisll a8 giall el e
reaction? i
+ HBr — L /
= ==
Y
Br |G) X
A — The compound " 1" ' TN Sl - A
B - The compound "2', Br Br "N S .B
C - The compound "3, /z >< >< "3 S (C D
D - The compound " 4" "4 =,d D
Br
~——
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Use IUPAL rules to name alkenes and cycloalkenes

student textbook+ figure12+Applications

What is the name of the following hydrocarbon
according to the (IUPAC) system?

¢(IUPAC) pliail s Jall (s S gl sl a

3, 7 = dimethyl - 4 — octene

2,6 — dimethyl — 4 — octene

6- methyl - 2 — ethyl =3 - heptyne S -3 -0 -2-di-6 g
2 - ethyl - 6 - methyl -3 - heptene OSA -3 - die-6-d8-2 [d
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Write possible structural isomers of alkanes, alkenes and alkynes [Up to six carbon aloms)

281

student textbook+ fiqure 17

Three of the structural formulas in the table below
are structural isomers to each other. Which formula

does not represent a structural isomer for the

other compounds?

A —Formula 1
B - Formula 2
C —Formula 3
D - Formula 4

PN 1

—9 H)Z?Hs
=
CH3CHCHZCH3

-6 IYCH,CH3
CH3CHCH,CH

H[Z CHa

s “—6:'3?0”3

o 053 Jgaall A Bs gl 5L dsall e 230
¥ A disall La ol Laan d 4505 Sl ya g

s AV s jall Ll 1 5a s 30 o

1 4apall— A

2 4sal -B
3 dapall - C

415-)&'

CHs

C5 H\o

CH3CHzCH2CHCH3
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Desceribe the difference between cis- and trans- i in terms of it Bomers

282

student textbook+ figures 18 and 19

According to the compounds in the table below.
Which of the following opinions is correct?
A - Compound 1 can form geometric isomers because
each carbon atom bonds with different atoms
B - Compound 2 can form geometric isomers because
it has a double bond
C - Compound 3 can form geometric isomers because
it has a double bond and eachcarbon atom around it
bonds with different atoms and groups

D - The three compounds cannot form geometric isomers

g o031 Joaadl L5 ol LS ally 3l Lo
ey Agaatih Sl pa gl CsSS 1 G.M‘aiﬁ-q-><
Adlide O 3 (e S 50 JS Bl
Cagan Aantin Ol jag il (g3 2 Sl ki —
—
AU Adat N 350
it Agentih O jag sl (s 3 Sl ki (€
,;.d = -
C92 S0 U8 Ga JS Bl ) g AU Aday) ) 3509
Al Cle ganay ol s lglsa

wuvm‘wﬁ@(umuum_;l(’

/3

CH,

I |
CH,CH,CHE!i = cn_qz:n,cu, @ C—CH, — CH, H—i—él:—u

Aly
S
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Use IUPAC rules to name the aloohod and ethers

student textbook+ figure B+table 4 and 5

288-289-290

Which of the following formulas represents the

compound butyl propyl ether?

] i AN asall e

=
% cmc@—o CH,CH,CH, CH

(b

}}\

© ¥
0 H,CH,CH) |

X

X

CH,CH,CH, 0
P P
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What is the correct name for the compound shown in
the figure below?
A—(4—ethyl-3 —chloro—2 - pentanone)
B—-(3—chloro- 4 - methyl -2 — pentanone)
C—(2—methyl—-3—chloro — 4 — pentanone)

D - (3 —chloro - 2 — methyl—4 — pentanone) M

(CHy)

€3] JSEN e sall S jall mall ai e

(O —2- 5058 -3-Jl- 4)-A
(O -2 i 4 g s -33
(Gl - 450 3 Jdm_2)-C
(U9 4 -Jfse 2988 3)-D

O br(

L.

_ S
>§)\_/—A/ ~2”&%"°’M”‘ )JjM -5

ol
(CHy-CH-CH-C-CHy
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Which of the following compounds ionizes in water
and forms a solution which tumsblue litmus paper
red?
A —The compounds" 1" ," 2" only
B - Thecompounds " 2" ," 3" only
C - Thecompound "4 " only
- Thecompound "3 " only

5 ¥ sl i g ol ol ) 285l
L’-Sef ¥l A G e el gl
\/\_/
Jaga m A L B JhSﬂ‘h 3
B rH nIn gngn JHEJAJ'. -B

PRI o5

L 30 oSl oD

H H
O-t-0 AN S
C=0 M
Irl lll H >{
H O 5\
) H O
H—:::—t':-nu \ﬁf @ “_(;_{!_N:” 220 y 1
il H H
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